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00 | FAKH T DRERE RS ¥6, 000
Glu, TBil,Na,K,Cl,Ca, IP, Fe, Mg, TP, Alb, UN,
Cre
01 | & = ’ ¥3, 500
Harfos UA, TG, TC, HDL-C, LDL-C, AST, ALT, ALP, LD, CK, GGT,
AMY, ChE, CRP, TgG, TgA, TgM
02 | HbAlc HbAlc ¥3, 000
03 | fo% URYIE) | HCV HUiK, HBs U, Hiz: TP HUiR, HIV ¥3, 000

N JE-7—
seke (5 TSH, FT3, FT4, AFP, CEA, PSA, 7 = U F v
04 | 71—« RVE ¥3, 500
CA19-9, CA125

>)
05 | 1% CBC %fiif;ﬁ%}@$fﬁﬁﬂw@%%Mﬁ O ¥4, 000
06 | I e[ A= = e RS DNV RN ¥2, 000
07 | JR—1 B EENE, S, I E M, B &, B E & O ¥1, 000
08 | f~F e TS BE Y ¥1, 000
09 | 1AW MG [ E, sz O ¥1, 000
10 | Hairf. A MIRTRRAT, HUAAME ¥2, 000
11 | #aiif. B IR, FrRAlh, AR A ¥2, 000
12 | e I3 PR EL A O ¥0
13 | Mife 2 O ¥0
14 | ZEFRHEAE DX, M - FHER, BE R O ¥0
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FAR 42 5,500 1 = 6,000 H
ik CBC 3,000 = 4,000 M
HbAlc 2000 = 3,000
waif A, B 1,500 3 = 2,000 [
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